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Note: Answer any FIVE full questtons, choosmg ONE full question from each module.

4Module- ,,,,,,,
1 a. Differentiate between stateless nd stateful servers. With an ﬁ;xample explain pros and cons
of stateful server. y : (08 Marks)

b.  Explain concurrency m ne;tWOrks and in servers Wxth the code, illustrate the concurrent

o

50, will be treated as malpractice.

4 rocessing in the UNIX ‘operating systems. (08 Marks)
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< 2 a. Explain the software interface ﬁmctiona]itieé and the basic I/O functions available in UNIX.

£ 4 (08 Marks)

[ S b. What do you mean by loosely spemﬁedf’protocol software interface? List and explain the

S é" (08 Marks)
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& 5 Module-2

2E 3 a. List and explain the different sys em calls used with sock 08 Marks

£ 3 p el :

28 b. [Illustrate with example code how the client soﬁwar ook up a domain name and well known

58 port by name. 4 k4 (08 Marks)
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S 3 b. (08 Marks)
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25 “Module-3

£ § S a. Writea program to implement TCP client for DAYTIME Service. (08 Marks)

3 g b. Write a program to 1mplement ‘\,DP client for ECHO Service. (08 Marks)
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5 35 6 a - Ex lam with code the im Iementatlon of UDP client for TIME Service. (08 Marks)
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=g b.. “Write a code for CP cllent that access the ECHO Service. (08 Marks)
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82 7 a. Explain the c ncurrent server, 1terat1ve server and the process for optimizing statelessness

§ & server. ‘Y (08 Marks)

= b. Explain connection oriented and connectionless servers. Discuss about failure , reliability -

2 and statelessness with respect to client server communication. (08 Marks)
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é 8 a. Build an algorithm for iterative connection oriented and connectionless server. (08 Marks)

= b. Build an algorlthm for concurrent connectionless server and concurrent connection oriented
Server. (08 Marks)
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Module-S »
With an implementation code explain the process of creating a passive socket.
Write a code segment for allocating a passive TCP Socket.

[lustrate the simple process structure used for an iterative connectionless server.

OR

Explain iterative , connection orier%}ff’ed DAYTIME server with an‘example code.

Explain the process structure of a concurrent , connection — otiented server.
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